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At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.
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by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
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(iii) Verify whether the Question Booklet No. is identical with

OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

This paper consists of One Hundred (100) multiple-choice type
questions. All the questions are compulsory. Each question carries
two marks.

Each Question has four alternative responses marked:

@ @ @ . You have to darken the circle as indicated

below on the correct response against each question.

Example:@ . @ , where @ is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.

Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

. Do not tamper or fold the OMR Sheet in any way. If you do so, your

OMR Sheet will not be evaluated.

You have to return the Original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with you
outside the Examination Hall. You are, however, allowed to carry
question booklet and duplicate copy of OMR Sheet after completion
of examination.

Use only Black Ball point pen.

Use of any calculator, mobile phone, electronic devices/gadgets
etc. is strictly prohibited.

There is no negative marks for incorrect answer.
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ParEr 11

(COMMERCE)

1. Current account balance refers to the net flow
between home country and foreign country of goods,
service, income and

(A) taxes
(B) valuables
(C) gifts
(D) claims

2. Which of the following is not a member of
SAARC?
(A) Afghanistan
(B) Nepal
(C) Maldives
(D) Mauritius

3. With regard to WTO, subsidies are covered in
two separate economic law agreements. Which are
they?

(A) TheReform Treaty and the Treaty of Rome

(B) The NAFTA and the Organisation of
American States of Charter

(C) The IMF’s Article of Agreement and the
European Central Bank’s Statute

(D) The GATT andthe Agreementon Subsides
and Countervailing Measures

4. The Linkage Leverage Learning Hypothesis
explains
(A) the gradual internationalisation path taken
by incumbent TNCs.

(B) the internationalisation strategy of micro
TNCs.

(C) the emergence of TNCs from the
developing countries.

(D) the gradual development of market
knowledge from the parental network.

1. FED IFCT GIETH F@0e A, GTl, T €
-99 @ ¢ e stegy F16 e/ s &
QR

(A) =9

(B) TN B3y
(©) THg"

(D) ®fJ (claims)

2. e @ @ SAARC (S Ao 31 2
(A) Salifasle
(B) Gsilet
(C) wera
(D) Wi

3. e qlfeley 1B (WTO)-(o eagfea el wib!
72 AT SgATS pie g Wife | Grefr 7 Fe
(A) F<HIF 5 ¢ @IeHR e
(B) NAFTA @3R SN (o567 & o
FRG
(C) IMF- 43N o1 Gfaitrs a3 ZS e
G AIFS N2
(D) GATT @R «fas o ARG e
ISR @I

4. Linkage Leverage Learning Hypothesis (5
e oG <t e e

(A) TNC T3 5216 T SIGE e 72
(B) ¥ TNC-3 SISO (FIaT
(C) THFTIE (% (A TNC-3 TLI

(D) CWWT Cﬂ%@ﬂﬁg (LU0 ST AR RIS
R EEau]
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5. Bank deposits of non-resident Indians come
under the
(A) Current Account
(B) Capital Account
(C) Errors and omissions
(D) Loans and advances

6. The main function of the IMF is to
(A) arrangeinternational deposits from banks.

(B) helptosolve Balance of Payment problems
of member countries.

(C) act as a private sector lending arm of
World Bank.

(D) finance investments to developing
countries.

7. Duty drawback is available for
(A) import duty or imported components.
(B) central excise on indigenous components.

(C) import duty and GST on indigenous
components.

(D) import duty, central excise and VAT.

8. The phenomenon of outsourcing has its roots in
the economic theory of

(A) Product Life Cycle

(B) Linking Leverage Learning
(C) Absolute Advantage

(D) Comparative Advantage

9. Laissez faire policy is adopted by
(A) Capitalist economy
(B) Mixed economy
(C) Socialist economy
(D) Communist economy

10. Which of the followingis not anon-tariff barrier?
(A) Quota
(B) Embargo
(C) Countervailing duty
(D) Licensing

X4

5. SIS SIIORME WicE ol o1 fawfafas ifiaa
FUE ¢
(A) JIEG ST
(B) f+(Gle1 SHIwICH
© W—@ﬁ‘ @ 9 (Errors and omissions)
(D) e @ fas

6. IMF-a3 24/ /% 24

(A) TFYTTT T T[0T SMTS-9F 1T
4|

(B) "W Ml A S (GG e
VAR AR 4 |

(C) T cwea, e TIEa e emieeiar
- AR e 41|

(D) TameHIieT (resia ffcicst sl taie ore |

7. Duty drawback i3 I1¥
(A) SIVIAIFS AR SIEmIf @& Toid |
(B) (I SATelid (1 S THT ST |
(C) @RI =iteid smife w= @ sey-sifacaal
AT T |

(D) SIMWIf &%, FEN €% R TS FET
Tod |

8. SITH FTIPR-9F el (@ e foF ©rga Y oIy,
©f 261

(A) T Gaebe
(B) foifae fereicae svifel
(©) purs A4l ©g
(D) GeTIerss fael og
9. ‘Laissez faire’ SIS (e 433 SIS 970 F400
Al 2
(A) geifes wdaifs
(B) f wigfSifs
(C) “Hereifgs sdaife

(D) TGS SIS

10. T @G F=-onfe fdey-qra w72
(A) oI
(B) fczaresl
(C) 5l = (Countervailing duty)
(D) @R



11. Face value of debentures of subsidiary company
held by holding company is deducted from
(A) debentures
(B) cost of control
(C) minority interest
(D) debentures in consolidated balance sheet

12. Operating activities include:

(i) Principal revenue generating activities of an
entity.

(i) Otheractivities thatare notinvesting or financing

activities.

(A) (i) only

(B) (ii) only

(C) (i) and (ii)

(D) either (i) or (ii)

13. Goodwill arising on amalgamation is to be

(A) amortised on a systematic basis, normally
over five years.

(B) adjusted againstreserves or profit and loss
account balance.

(C) retained in the books of the transferee
company.

(D) retained in the books of the transferor
company.

14. Debentures are 3 2,50,000 and ¥ 3,50,000 in the
balance sheets for 2018 and 2019 respectively. 1,000
of the debentures of I 100 each were issued at par in
2019, of which 400 debentures were issued to a supplier
for the purchase of a machine. Determine the amount
of issue of debentures for the purpose of Fund Flow
Statement.

(A) ¥ 60,000
(B) 40,000
(C) 10,000
(D) 20,000

15. At the time of dissolution of a partnership firm

(A) all the assets are transferred to
Realisation A/c.

(B) only current assets are transferred to
Realisation A/c.

(C) non-cash assets are transferred to
Realisation A/c.

(D) only liquid assets are transferred to
Realisation A/c.

06-11
11. @fz: @ifg s@ez aREERTR @R
EGRAGE W%@W (Face value) M1053 @A{G (A I
e 29 ?
(A) A99lq
(B) 96 o HHI
(C) WiE=fa THIEs
(D) GTAGS THGTTT AT [Ty
12. FIFIAIER SAEDL PR 900 @RI 2
(i) AfSDTTT ST TG AT 2 FIAE
(i) e ¢ wifdfs ee FRiE 2ot @ @i
RRIEC|
(A) (TG (i)
(B) (F<eTS@ (i)
(C) (1) @R (i)
(D) (1) =<l (i)
13. GSAFACEIT T TYS AN
(A) e fefers, AuereiE #v a2, el
F(S 40 AN I (amortisation) |
(B) A% A se-weq AT A AN
[SRICEEN
(C) alzF @iifam J2ce Mo 1|
(D) (27 @I=fa J2ce ffeaa 41 |

14. 2018 € 2019 AN THe2I(@ «eloitad »Ifastie fost
TGS 2,50,000 8 3,50,000 5iFt | 2019 A &fsl
100 GBI [T 11,0000 deioi@ ey 29 w41 23, AR
& 4005 2elo[@ 29 391 27 IF FIRAZTFIICS, AR (A
G5 (¥ (@1 2302 | Fund Flow Statement-¢ 499itad
T 6| (I 203 el el |

(A) 60,000 izl

(B) 40,000 GiFl

(C) 10,000 TR

(D) 20,000 izl

15. SRAMIE FIAIF 7 (dissolve) (51T

(A) T8 7=If&rF Realisation A/c-4 SO
- 23 |

(B) (F<eToIq b1l 7#If&r Realisation A/c-
P F1 27 |

(C) 5-=19% (non-cash) ™If&& Realisation
Alc-4 ZIEire T4 = |

(D) (F3eT0q O+ (liquid) ™S Realisation
Alc-4 ZIEiRre T4 = |
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16. A company can improve (lower) its Debt to
Total Assets ratio by doing which of the following?
(A) Selling common stock
(B) Shifting long-term to short-term debt
(C) Shifting short-term to long-term debt
(D) Borrowing more

17. Different management accounting techniques
can be used to account for environmental costs. One of
these techniques involves analysing costs under three
distinct categories: material, system and delivery &
disposal. What is this technique known as?

(A) Activity-based costing
(B) Life-cycle costing

(C) Input-output analysis

(D) Flow cost accounting

18. Under conditions of unchanged cost structure
and selling price over the consecutive two years, the
sales and profits of an enterprise were as follows:

Sales Profits
54 54
2018 1,220,000 9,000
2019  1,40,000 13,000

The Profit/volume ratio of the enterprise was
(A) 25%
(B) 30%
(©) 20%
D) 15%

19. On dissolution of a partnership firm, the
Realisation A/c is debited with

(A) all the liabilities of the firm.

(B) cash received from the sale of the assets.
(C) any assets taken over by one of the partners.
(D) all assets to be realised.

20. The rate of discount on issue of shares cannot
exceed per cent of the nominal value of
the shares.

(A) 10
(B) 20
©) 15
(D) 5

16. @3 @it gl @@ SoE 46 @ @b
Fsifeq Seelte Tae (Feed) a0 A ?
(A) AT (<1 2 I
(B) TGt et Farcint et AAfvafes e
(C) FECRIT A A 4eet 7IRafes 3@
(D) SR8 @& A9 oz FE

17. “RE@R SR R 97 o [agieil-
Ty ffen 4@ 1% fs =tz | @ S0y 9351 #1afs
2 4A60F foa oj2F el [Kesmd w12 Sotme
(material), *[&f® (system) @R AT ¢ foosife| @3
Awfels F T #fafoo?

(A) Activity-based costing

(B) Life-cycle costing
(C) Input-output analysis
(D) Flow cost accounting

18. “If5=ra S (cost-structure) ' T 6] A
7'%d SHRRRSS A WS, @3 aAfevieE aw e
sTeed oAfasie ¢

ISR G

z z
2018 1,20,000 9,000
2019 1,40,000 13,000

ARSI sTe-ne (Profit/volume) SIS ¢
(A) 25%
(B) 30%
(©) 20%
(D) 15%

19. @6 SN FIFRNET SR (Dissolution)
o0, Realisation A/c-4 (TG 341 =7

(A) 2fSDITa (G 7T (liabilities) |

(B) ife Rifera et 32t Fom |

(C) @I & SRAME 7l 92 & TG |
(D) 518 7=If @afet ToMcad T4 A |

20. (<1 P FCE ZOT QIR AR I qT=
RONGENSREURCRIGI
(A) 10
(B) 20
©) 15
D) 5



21. Giffen goods are those goods

(A) for which demand increases as price
increases.

(B) which have a high income elasticity of
demand.

(C) which have short supply.
(D) whichhavelow cross elasticity of demand.

22. An indifference curve is always
(A) concave to the origin.
(B) convex to the origin.
(C) parallel to the horizontal axis.
(D) parallel to the vertical axis.

23. If price elasticity of demand is infinity (ep=0),
the demand curve will be
(A) avertical straight line.
(B) a horizontal straight line.
(C) a downward falling straight line.
(D) an upward rising straight line.

24. If two goods are substitutable the Gross price
elasticity of demand will be

(A) zero

(B) negative
(C) positive
(D) infinity

25. operates, when percentage change
in output is more than the percentage change in inputs.

(A) Increasing returns to scale
(B) Constant returns to scale
(C) Variable returns to scale
(D) Decreasing returns to scale

X-7 06-11

21. ez (Giffen) AN 267 G AW 8
(A) 7 AR A bifznl AT
(B) v vifzwid wiwsre Rfezgiocmel @f
(C) T CElsiiey
(D) Tima ATz Ffozieimel o

22. 936 FRCoF @4 APTR
(A) TR WM oo |
(B) IR~ M T |
(C) SFTERIF S A TG |
(D) T&ET SIS ACH NG |

23. 3w vifewa wiware fFBfegivmel S (e, = ) 7,
RIEGERIE]
(A) 93 Tag ATEE@A |
(B) 30 ST AR |
(C) @35 fTFI el |
(D) €< THEYA AT |

24, 76 2If3<S w7 SifenF #A7Ifss @& (Gross)
LER SEEISEI SN G|

(A) 7 (0)

(B) A< (Negative)
(C) 4= (Positive)
(D) SN (Infinity)

25. @R, T49 TeAMET *eFA!

ARSI AWM *foaal RS 2 (AT
@ ==

(A) TR 2fenieg 79
(B) TR fonitia 21

(C) HAfaasa=ia afewitra g
(D) g Afewnits 24
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26. A cost function is given by C = 8Q? + 10Q + 20,
where Q refers to the output produced and C is the total
cost of production. The average variable cost will be:

(A) 8Q%+10Q

(B) 16Q + 10

(C) 8Q+ 10

(D) 20/Q +8Q + 10

27. The shape of the average fixed cost curve is

(A) a straight line parallel to the horizontal
axis.

(B) astraight line parallel to the vertical axis.
(C) arectangular hyperbola.
(D) adownward falling straight line.

28. Break even point is the point where
(A) P<AC
(B) P=AVC
(C) P>AC
(D) P=AC

29. What does monopolistic competition have in
common with monopoly?
(A) A large number of firms
(B) Mutual interdependence
(C) The ability to collude with respect to price
(D) A downward sloping demand curve

30. Inthekinked demand curve model of oligopoly,
the existence of the kink leads to
(A) a continuous marginal revenue curve.
(B) a discontinuous marginal revenue curve.
(C) two parallel marginal revenue curves.

(D) two perpendicular marginal revenue
curves.

X-8

26. C = 8Q% + 10Q + 20 =& ¢ cost function,
@A Q Z&1 T 7y R C 61 S (G <4< |
NG PRGNS T T

(A) 8Q%+10Q

(B) 16Q + 10

(C) 8Q+ 10

(D) 20/Q + 8Q + 10

27. 5lC 3 I @R OGS 2o
(A) ST SICH TS GH0 AIEAE |
(B) THT G ANGAT GF 0 A |
(C) 93 ITSCHEF F7Re|

(D) @3 a2 sT=eTE |

28. SIR-TX IO K 261 (b [, @I
(A) P<AC
(B) P=AVC
(C) P>AC
(D) P=AC

29. @aha-afewifoet @ aaEtaa Ser J A
R FleT ez 2
(A) ITRAT 2D
(B) At Tl SIed fEgeTel

(C) TS HOITe M A T AT A
0|

(D) «=f6 frws2t sifawt @i

30. Oligopoly-3 (FTE HIfAIF NS (eI Soifzfox
Gel] 1l (M

(A) @ faafeg 2ifes st
(B) @b fafvey aifes sacaat|
(C) 7fb TS 2IfeF ST |
(D) 76 Tax ifes SReEl |




31. In capital budgeting the term capital rationing
implies that
(A) no retained earnings available.
(B) limited funds are available for investment.
(C) no external funds can be raised.

(D) no fresh investment is required in the
current year.

32. The concept of cost of capital can also be
explained in terms of cost. Which one of
the following can be used to fill in the blank?

(A) opportunity
(B) variable
(C) fixed

(D) sunk

33. The currency crisis of September 1992 was
originated due to breaking down of

(A) International Monetary System
(B) European Monetary System
(C) Bretton Woods System

(D) Floating Rate System

34. Match the items of List-I with those of
List-1I and indicate the correct code:
List-1
(a) ABC Analysis
(b) Walter Model

List-11
(1) Dividend Decision
(i) Capital Budgeting
Decision

(c) Capital Rationing (iii) Capital Structure

Decision
(d) Net Operating (iv) Working Capital
Income Approach Management Decision
Code:

(@ () (@ (@
@A) @ G G Gv)
B) Gy @) @) @[v)
© Gvy @O G i)
D) @) G G (Gv)

X-9
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31. ETH SO T AL (@Il 00 QIR
(A) @8 Taf%e w7 (12 |
(B) Rfcaicsm ey Fifire #ifsid wie a2
iz |

(C) ET (AT FIT A O 7L T AT
3 |

(D) TS TB(H Tor [N AREH +3 |

32. JEH o A7 (cost of capital) (F
A5 FRTCa 5171 31 AR | [ A #TRI 2H0EHR S
AR 1 @O AT 2
(A) @4 (opportunity)
(B) “IffS¥1s (variable)
(C) 27 (fixed)
(D) fo=ifese (sunk)

33. 1992 AR CIBHER 4 FFWH Seoifeq el
ESl

(A) ST ITeF SToF EE e |
(B) TERIIF WL(ToF T Ol |
(C) Bretton Woods #&fed Sl |

(D) SFEI 29 2Iafeq e |

34. List-1€932 List-II-93 SR N oo w1

el o 3t ¢

List-1 List-I1
(a) ABC faosref () TR Pae

(b) Walter (@& (i) T Alceio: Prare
(c) e amifei (iii) [T TR Prave

(d) 96 FEIRAR =" € (iv) FIHFT L
FIZANT P

I (Code) ¢

(@ b (© (@
@A) @ Gy G Gv)
B) G @O (i) (Gv)
© Gvy @O G i)
D) @) G G) ()
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35. Profit Before Tax (PBT) of a firm has increased

by 40 per centas aresultof 10 per centincrease in sales.
Operating leverage of the firm is 2. What will be the
financial leverage of the firm?

A) 4

(B) 20

©) 2

D) 1

36. Intheforeign exchange markethedging activity
means
(A) earning riskless profit.
(B) earning risky profit.
(C) protection against risk.
(D) bearing foreign exchange risk.

37. If a company sells its account receivable to
another party to raise funds, it is known as
(A) Securitization
(B) Factoring
(C) Pledging
(D) Hedging

38. If the expected return on market portfolio is
20%, beta of portfolio is 1-2 and the risk free rate is
10%, the expected return on the above portfolio is
equal to

(A) 22%
B) 12%
(©) 20%
D) 32%

39. Dividends are the of a company
distributed amongst members in proportion to their
shares. Which one of the following is appropriate to fill
in the blank?

(A) divisible profits

(B) capital reserve

(C) assets with cash and bank
(D) stock split

X-10

35. 36 AfePieTa Raw 10% @ sAleam T@ 7
TS T 40% I 2 | eifevmiba R freas
2 20, i freime o 21

(A) 4
(B) 20
©) 2
(D) 1

36. WIS @I IR @fer S’ @1 @RI
(A) FfHE il o |
(B) Jfege rreet wreie |
(C) I (AT Tl e |
(D) @z 7l TG T 72 |

37. @3 @il T fFem ‘aish wda SRR
(Account Receivable) O+ (@8 % [&fF 37 €3
(S TIT/ T2 (O ST (7, ©IFE & 2

(A) Securitization
(B) Factoring
(C) Pledging
(D) Hedging

38. M6 (ATEfeIe (A denfe wim 20%,
cotierifere <61 1-2 9 Ife 219 10% 20, (oiberifers
AF A9ifEe SIEe 29 2@

(A) 22%
(B) 12%
(C) 20%
(D) 32%

39. fuferes 25 @ @ =iifa Tma S oima
(FRIET SIS Ol I (redl | Fee=
(RRIRTD WTE 7[R Sy I 2

(A) IS I (Divisible profits)

(B) [ Ff*ele (Capital Reserve)

(C) o8 FICE Gl LRSI 5T=7if€ (Assets
with Cash and Bank)

(D) 365 Ufeeael (Stock split)



40. Which one involves increasing the par value
and decreasing the number of outstanding shares
proportionately?

(A) Reverse stock split
(B) Stock split

(C) Bonus issue

(D) ESOP

41. Foropenended classes, the appropriate measure
of central tendency is

(A) Mode

(B) Arithmetic Mean
(C) Harmonic Mean
(D) Median

42. The arithmetic mean of a group of 100 items is
found to be 50 and that of another group of 150 items
is 100. The arithmetic mean of all items will be

(A) 185
(B) 80
(©) 90
(D) 180

43. Ifthereisnorelation between two variables, the
value of the coefficient of correlation will be
(A) +1
B) -1
(C) 05
(D) 0

44. Report of the World Bank is a source of
(A) schedule data
(B) observation data
(C) secondary data
(D) primary data

X-11
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40. @IN7 =y T o (PAR value) AT 9%
N R FRLT AT BN 2
(A) o9 35 dfeseasael (Reverse stock split)
(B) 5% fewsa¢ (Stock split)
(C) (@™ 2] (Bonus issue)
(D) IR T F5E 255 (ESOP)

41. & = (open ended class-43) &= Central
Tendency-3 IYRY TS &
(A) Mode
(B) Arithmetic Mean
(C) Harmonic Mean
(D) Median

42. 1007 SIZGER @ 20519 Arithmetic Mean 50
@R 1505 SIZGER oo @< 2%021F Arithmetic Mean
100 2051 A SN2 Arithmetic Mean 2@

(A) 185
(B) 80
(C) 90
(D) 180

43. 9 (SRE@EER (variable-93) &y AW I
9 1 QAICF, OIRE coefficient of correlation 2@
(A) +1
B) -1
(©) 05
(D) 0

44. ReTER elforave F 4AEa OUPIE ?
(A) SifeReiee Toit€ (Schedule Data)
(B) #Ia T#ire (Observation Data)
(C) oMot TG (Secondary Data)
(D) 2iefiiE i€ (Primary Data)
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45. If the angle between the two regression lines is

90°, the coefficient of correlation between two variables
will be

(A) +1
B) -1
©) 05
(D) 0

46. The parameters of the standard normal
distribution are

A) (0,0
B) (1,1
© 0. D
D) (1,0

47. The most widely accepted sampling is
(A) Simple Random Sampling
(B) Purposive Sampling
(C) Quota Sampling
(D) Convenience Sampling

48. For theoretical distribution, mean = variance is
in
(A) Normal Distribution
(B) Binomial Distribution
(C) Poisson Distribution
(D) Rectangular Distribution

49. Chi Square Distribution is used for the test of
(A) Goodness of fit
(B) Variance ratio test
(C) Small sample test
(D) Hypothetical value of population parameter

X-12

45. 9 Regression (F4F W&y 90° (el (e, U
variable-¢9 coefficient of correlation 203
(A) +1
B) -1
(C) 05
D) 0

46. Standard Normal Distribution-49 TZfewiotefe
(Parameters) 2a1
(A) (0,0)
B) (1, 1)
©) O, 1)
(D) (1,0)

47. RGA @ I T (Sampling) 26
(A) Simple Random Sampling
(B) Purposive Sampling
(C) Quota Sampling
(D) Convenience Sampling

48. (FI9 Theoretical Distribution-4¥ Mean €<}
Variance Y9I« ?
(A) Normal Distribution
(B) Binomial Distribution
(C) Poisson Distribution
(D) Rectangular Distribution

49. Chi Square Distribution (¥ #S3 & 72
<1 27 (A 2o
(A) Goodness of fit
(B) Variance ratio test
(C) Small sample test

(D) Hypothetical value of population
parameter



50. For a contingency table with 4 rows and
3 columns, the degree of freedom will be
(A) 12
(B) 6
(©) 20
(D) 10

51. Which of the following is not a stage in
‘Maslow’s Hierarchy of Needs’ theory?
(A) Psychological
(B) Security
(C) Social
(D) Self actualisation

52. Whichofthe followingis nota control technique
in management?
(A) Break-even Analysis
(B) Environmental Analysis
(C) Budgetary Control
(D) Responsibility Accounting

53. According to Vroom’s Expectancy Theory,
Motivation = Valence x Expectancy x
Which of the following terms would be most
appropriate in the blank?
(A) Effort
(B) Drive
(C) Instrumentality
(D) Risk

54. According to the Managerial Grid framework
conceived by Blake and Mouton, wherein ‘concern for
production/task’ is measured on the X-Axis and
‘concern for people’ is measured on the Y-Axis. Which
leadership style do the coordinates (1, 9) represent,
given that on each axis 1 represents least concern and
9 represents greatest concern?

(A) Team

(B) Task

(C) Middle of the road
(D) Country club

X-13
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50. 4% A (row) @38 3 S (column) T& €FH
contingency table-4< degree of freedom 2(J
(A) 12
B) 6
©) 20
(D) 10
51. SR @D AT RIS 1 iR FerEte
w9 90ed (Maslow’s Hierarchy of Needs) (It 713
(stage) <1 ?
(A) Teifes (Psychological)
(B) faierel (Security)
(C) Ife=s (Social)
(D) SI=-8#iafE (Self actualisation)

52. A @G AROE GIEE Teofe fuEd owmhe
T2
(A) T SF-357 s (Break-even Analysis)
(B) #if5@ ke f{es=e (Environmental
Analysis)
(C) 3MCeoa e for@el (Budgetary Control)
(D) WG 7S 2w (Responsibility

Accounting)

53. Vroom-93 eyl ©g§ S (Expectancy

Theory),

S[CeRel (Motivation) = FICE &) Jfed [Res
2% (Valence) x &9ji*ll (Expectancy) X |

TR =W T @0 2R AR G
TRAGR @ I 2

(A) 2% (Effort)

(B) Twr™ (Drive)

(C) A= (Instrumentality)

(D) 3 (Risk)

54, (@ € TH(1E RFANE IR A ST SO
O SR XS0 T F2/0S Kbl @38 Y-S0
T A e “Afwst 9t @ |1 T T_E
G ‘9’ T B @R R @R, O (1, 9)
T 1 Z= (A (TR (I &3 (style) & @ICTCA!
279

(A) Team

(B) Task

(C) Middle of the road
(D) Country club
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55. Match the following:
Contributor
(a) F.W. Taylor

Organisation theory

(i) Application of
psychology toindustry
and management

(b) Max Weber (i) System approach to

Management

(c) Chester Bernard (iii) Emphasisinrulesand

regulation

(d) Hugo Munsterberg (iv) Increasedproductivity

through efficiency

in production

(@ b (© @
A) Gv) @) () @
B) (i) @Gv) () @)
© Gv) G @ ()
D) G ) Gv) o (@)

56. A systematic comparison between jobs done in
order to determine their relative worth is known as
(A) Job Analysis
(B) Job Evaluation
(C) Job Enrichment
(D) Job Design

57. Which of the following is not an operative
function of human resource management?
(A) Control
(B) Development
(C) Maintenance
(D) Procurement

58. ‘One method of resolving conflict is to ensure
shared goal attainment between the conflicting parties.’
This method is called

(A) Problem solving
(B) Superordinate path
(C) Smoothing

(D) Compromise

X-14

55. qeasl Gre
S (Contributor) FRoi0e O (Organisation
theory)
(a) F.W. Taylor (i) T e 2IfpRe 2™
TBCIT TR

(i) «fasrEs IRy
PieoTEiTe Toam

(i) S @ fFmEa Saa
cerlg e

(d) Hugo Munsterberg (iv) G Wl LI

TesAmeeTel AT

(@ b (© (@
(A) Gv) @) G @
B) @) Gv) () (@)
© Gv) @G @ (i)
D) Gi) G  Gv) @

(b) Max Weber

(c) Chester Bernard

56. fafen siifrs Fite &y afoe geml T
wNeolfRs e e i I
(A) ¥ ool
(B) ¥ SeriEe
(©) T 1w

(D) F =it

57. ST @0 A W GIZIPE operative
function-43 & 20T <1 ?
(A) f¥E@e (Control)
(B) =@« (Development)
(C) T (Maintenance)
(D) TS (Procurement)

58. e ISiwma Sy [am oI 9t Soflm
2&1 U Sl A0l oK (el e w1 | @B Amfers
el =

(A) S AL
(B) FJASIEEG oIl
(C)

(D) =eeteT



59. Which one of the following is not among the
‘Big Five’ personality traits?
(A) Agreeableness
(B) Neuroticism
(C) Extroversion
(D) Cautious

60. The practice of inducing employees from
competing organisation to join for better pay packages
to your own is known as

(A) Talk-in interview
(B) Leap frogging
(C) Head hunting
(D) Poaching

61. Rolling Settlement occurs in case of
(A) Equity Shares
(B) Government Securities
(C) De-Mat Securities
(D) Re-Mat Securities

62. Credit Rating is mandatory for public or right
issue of debt instruments:
(A) Irrespective of their maturity period
(B) Having maturity period of more than 12
months
(C) Having maturity period of more than 24
months

(D) Having maturity period of more than 36
months

63. For the following statements of Assertion (A)

and Reason (R) indicates the correct code:
Assertion (A) : Schedule Banks are required to
maintain a certain minimum

balance in their accounts with
RBI.

Reason (R) : The Schedule Banks are entitled
to borrowing and rediscounting
facilities from RBI.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.
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59. e @G 9| F2®’ (Big Five) Afes (a3
T ACT 12
(A) e el
(B) wrifawel
(©) el
(D) A4teTe!

60. &Il 2fSa 2fewia (A @ (@on e Feee
ATV @omIe IR A o1l =
(A) FARET A (Talk-in interview)

(B) 1ed &1 (Leap frogging)
(C) =nilitden (Head hunting)
(D) 1% (Poaching)

61. Rolling Settlement ey TH—
(A) T2 ew
(B) sreetcrs Pifsefaft
(C) &5 e
(D) -1t PifeD

62. A% THFAF (Debt instruments ) #3E1F 1 7126
B A G (I ([I6% AN 2 8
(A) v W@
(B) 12 ST (@ (RIS &y
(C) 24 1A @R RIS &
(D) 36 TR @ GRMSIEE S

63. b7 TSR A& [IC (A) 9K TS (R)

@S Wiz | AT el Biee s ¢
3@ (A) ¢ RBI-¢ Sifeige TRl &ia
(Account) 436! S #ifzsiel JeTo

Gl AT ARG |
I (R) ¢ ofvwiee AFel RBI-G3 I
(AT A A SRS T @R

RfSTHIT o T4 AT |

(PIOTYZ ¢

(A) (A) 9= (R) Te7® 55, (R) =1 (A)-7 A0
BiIR]

(B) (A)93(R)Tww2 55, T8 (R), (A)-a 7%
BIENICES

(©) (A) A=, 7€ (R) g1

(D) (A) =, % (R) 7o
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64. For the following statements of Assertion (A)
and Reason (R) select the correct answer using the
codes given below:

Assertion (A) : Capital to Risk Weighted Assets

Ratio (CRAR) was introduced
in 1992.

Reason (R):  Capital Adequacy Ratio (CAR)
is also known as Capital to Risk
Weighted Asstes Ratio (CRAR).
Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

65. Match between List-I and List-1I to select the
correct combination using the codes given below:
List-1 List-11

(a) Bull (i) Agrees to sell on a
fixed date but finds it
different to meet his
commitment.

(b) Bear (ii) Buysthesharestosell
them in future
expectingapricerise.

(c¢) Lame duck (iii) Neither buysnorsells
butmerely applies for
shares to sell at a
premium.

(d) Stag (iv) Agrees to sell on a
fixed date expecting
a fall in the price.

Codes:

@@ (b)) (© (@
A) ) @ G Gv)
B) @ G () 3Gv)
© Gv) (@) (i) (i)
D) ) Gv) @ (i)
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64. BT ISR A& AnE 7310 (A) @R & (R)
(AT (T AL T AT Tt 410 T 2
RS (A) ¢ e e s e svifeq srpote
(CRAR)-99 3% T3 1992 A/ |
5 PR AANGO ST (CAR)E
JETE G R AT STvife S eie
(CRAR)-$ &1l 23 |

& (R)

(PIOTYZ ¢

(A) (A) €% (R) T332 0%, (R) =1 (A)-7 (5%
BiIS)

(B) (A)93R(R)Tw32 {55, 8 (R), (A)-a 7%
I

(©) (A) A=, 7€ (R) &1

(D) (A) =, % (R) 7o

65. ©fFFH 8 CIfFm-11-43 W4y FEdael T @3-

(T G I AT AT W5 T ¢
oifere-1 oifere-Il
(a) Bull () @51 e e e
VIR B IC0 SRR 708
(b) Bear (i) SRETows e |
@ i e R[iE
PCA

(¢) Lame duck (ii1) GO (- _CI 1
e WIET T

I I @R

feifsaie RiF Face s
(d) Stag (iv) G e I A
oI 9ol WS
e fafeE sace w9
(FCTIZ ¢

(@ b (© (@
@A) Gy @ G (1)
B) (@) @) G) o (Gv)
© Gv) @ ai) (i)
D) Gy @Gv) @ (i)



66. Match between List-I and List-1I with regard to
the BASEL III’s 3-Pillar Framework and select the

X-17
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66. BASEL II1-93 o7 w87 SIS S

correct answer using the codes given below this lists:

OIferel-l '8 OIferR-11-a3 WKy feTae S (T SRy
5% Tex 4o el ¢

List-1 List-II
(a) Pillar-1 (i) Supervisory review
process

(b) Pillar-2
(c) Pillar-3

(i) Market discipline

(iii)) Minimum regulatory
capital requirement
based on Risk
Weighted Assets

(RWA’s)
Codes:
(@ () (o
(A () G (D)
B) @ i) (i)

© i) @G @)
D) @) 3@ (i)

67. A ‘Bear’ cannot always keep his commitment
because the price does not move the way he wants the
share to move and he is, therefore, said to be struggling
like a

(A) Lame Bear
(B) Lame Stag
(C) Lame Bull
(D) Lame Duck

68. Match between the List-1 and List-11 and select
the correct match using the codes given below the lists:

List-1 List-11
(a) Reserve Bank of India (1) 1975
(b) Nationalisation of (i) 1935
14 major Commercial
Banks
(c) Nationalisation of Six  (iii) 1969
Commercial Banks
(d) Regional Rural Banks  (iv) 1980
Codes:
@ b © @
(A) G G @ (v)
B) G i) Gv) @)
© @Gi) @ G 3Gv)
D) @ Gy @Gi) o (v)

oIferpI-1 Ol
(a) ¥C-1 (i) TERUTITS 2Tz
e
(b) wE-2 (ii) SIS =fe/eT
(c) ©E-3 (i) & e FA~fe
(RWA) SERIST Jeres
YEAGHT AT
IBEEIGIE]
(PIOTYZ ¢
@ (b (o)
A) @ Gy (i)
B) @ @) (D)

© @) G (@)
D) Gi) @ (D)

67. ([ AT O ST AN AN 1 Fiel
TR T @IS O B GlRei ARfse 23 =,
T O (@ SRR W 2108 ©f 24

(A) Lame Bear
(B) Lame Stag
(C) Lame Bull
(D) Lame Duck

68. ©fEFH € OfFFEHI-9F N Avel [uE T
@IS AR AGF WG [ow et ¢

oifere-1 GEas ]

(a) oS iz o 3w (i) 1975
(b) @l gae qifdfers (i) 1935

[IES Grorgwge
(c) = aifafens i (iii) 1969

RO
(d) el Al aE (iv) 1980

(PIOITY2 ¢

@ G © @

(A () @Gy @ 34v)

B) @G G aGv) @)

© Gi) @)  aG) (v)

(D) () Gy @) @[Qv)
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69. Crawling Peg System means
(A) Fixed Exchange Rate System
(B) Floating Exchange Rate System

(C) Hybrid of Fixed and Floating Exchange
System

(D) Pound-Sterling System

70. Match between the items of Lisz-I and items of
List-1I and select the correct match using the codes
given below:

List-1
(a) Interbank call market
(b) Commercial Bills

(c) Commercial Paper

List-11
(i) Money market
(i) Promissory Note

(iii) Short-term

Market maturity
(d) Treasury Bill (iv) Governmentpapers
Codes:

(@ b (© @
@A) @O G G Gv)
B @O G Gv) (D)
© Gy @ G Gv)
D) Gy @ Gv) (6

71. Market penetration pricing strategy is suitable
when
(A) lower priceencourages actual competition.
(B) the demand of product is inelastic.

(C) the production and distribution costs fall
with increasing production.

(D) ahigh price discourages competitors from
entering the market.

72. At which stage of new product development
process, the launching of the new product will take
place?

(A) Business Analysis

(B) Test Marketing

(C) Commercialisation

(D) Marketing Strategy Development

X-18

69. Crawling Peg System-43 o1 ¢
(A) 27 EmkE @ [T 27 93
(B) sAfsaea¥iis1 (amii syt e 2w a7
(C) 77 ¢ dAfFadaaier-fi ot qut f&fesa
RERISEY
(D) “NITT-GRRR 737

70. O OfFTH- € CfFHE-I-97 T ANe! [y
T G AN ST (FIC L I AT FleAt o
IET 8

oifere-1 oifere-Il
(a) TG & WH6 () W T
(b) Fwiffet et (i) 2fPR @
(c) TR (2N IHG  (1ii) TP GRS
(d) Guifs & (iii) A Fore
(PIGITYZ ¢

(@ b (© (@
@A) @O G G Gv)
B) () G (>Gv) (i)
© @Gi) @O  3G)  Gv)
D) (i) @ Gv) (i)

71. JAGIE AT T FReR @G S
T 8

(A) TFee o7 2ige dfvafasis Seiifee S

(B) e wifenl wifzfezivie

(C) IS ToAMETT AL AL TLAW & FIRANZ
TG U6 I T

(D) Iei= CHaeT Afowrals ISR 2T T
AR Fe

72. 2l RPN AFR, T 2/6ly (I TR Ble]
(launching) ¥4I 29 ?
(A) T Rose
(B) e oo
(C) difaferiasadt
(D) Rt (F1a Tazel



73. Which communication component is not a paid
form of communication?

(A) Advertising
(B) Sales promotion
(C) Personal selling
(D) Publicity

74. Which of the following is not a function of
distribution?
(A) Manufacturing
(B) Warehousing
(C) Inventorying
(D) Transportation

75. Pricing is one of the essential component of
(A) Promotion Mix
(B) Marketing Mix
(C) Product Mix
(D) Place Mix

76. The Branding Strategy which uses a different
brand name for each product is known as

(A) Family Branding
(B) Multiple Branding
(C) Individual Branding
(D) Brand Extension

77. Statement 1: All trademarks are brands.
Statement 2: All brands are not trademarks.

(A) Statement 1 is true and Statement 2 is
false.

(B) Statement 1 is true and Statement 2 is true.

(C) Statement 1 is false and Statement 2 is
false.

(D) Statement 1 is false and Statement 2 is
true.

X-19
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73. (I LD @SN L 2T F0ox A~ 77 2
(A) el

(B) f"@w-ep11
(C) If&are Raw
(D) SRR & 25

74. A @0 FAIIAL FRGIG FIS I3 ?
(A) TeoAm
(B) wwiseeaad

(C) egesad
(D) sifzes

75. SitelrR e izl
TV |
(A) Promotion Mix
(B) Marketing Mix
(C) Product Mix
(D) Place Mix

97 Q5] PGyl

76. Tife: A @ @FHE 2dfell AR 52T
Brand-name <RI S OGP (T
(A) Family Branding
(B) Multiple Branding
(C) Individual Branding
(D) Brand Extension

77. R 1 2 31 GOF 2o e |
3@ 2 ¢ 71 WIS GEIF 7 |
(A) RIS 1 700, 73 2 et
(B) R3S 1 #f3=, [43f@ 2 AMow
(©) f5fe 1 g, f[A3/© 2 gai
(D) 3% 1591, [3f% 2 A%
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78. Cognitive dissonance is associated with which
stage of consumer buying decision process?
(A) Need recognition
(B) Information search
(C) Evaluation of alternative
(D) Post purchase behaviour

79. Marketing Myopia concept was developed by
(A) Philip Kotler
(B) Peter Drucker
(C) Theodore Levitt
(D) C.K. Prahlad

80. The number of product lines a company carries
is called

(A) Product variation

(B) Product mix width
(C) Product mix depth
(D) Product mix length

81. The copyright will pass on to his personal
representative as part of estate if such person dies

(A) testamentary disposition (through Will)
(B) through assignment

(C) by operation of law

(D) intestate (without making Will)

82. Contracts made before war with an alien enemy.
Which are against public policy, are

(A) suspended and are revived after the war is
over.

(B) dissolved.
(C) not affected at all.
(D) void ab initio.
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78. wiwfefes wmfe (Cognitive dissonance)
o~

TSI T AR (@I BE AL IS 2
(A) ARG TGO
(B) 9 SeprIA
(OREsCERGIED]
(D) fAeFcres sipas

79. ‘Rl AIS el e el 26w Feaw
(A) Tferst iGeT=

(B) o g
(C) fereR @t
(D) PI. . 2gm

80. T FI=feTa T YA AN AIF OICF AT
(A) #oy @va
(B) #ej-fi 23
(C) ol-Fs seize
(D) sto-fes e

81. G & T (97E1 AFFY (copyright) ©OF
T>ifar s 2e afese dfsafira sz aE
|

(A) testamentary disposition (S2(FTH LI
(B) through assignment
(C) by operation of law

(D) intestate (T3&1 2T)

82. (Tl ¥ *i@q A Jrad w741 pie

(A) Zfore 341 70 9R T @ eTF 77
AR A 1 = |

(B) ety a1 <ifss <41 =3 |
(C) @FEreIE eifce z =i |
(D) &% (A2 IS e ololy 1 |




83. Quantum Meruit means
(A) anon gratuitous promise.
(B) an implied promise.
(C) as much as is earned.
(D) as much as is paid.

84. The right of subrogation in a contract of
guarantee is available to the

(A) Creditor

(B) Principle Debtor
(C) Indemnifier
(D) Surety

85. Theright of lien exercised by an unpaid seller is
to
(A) recover price and other charges.
(B) claim damages.
(C) regain possession.
(D) retain possession.

86. If life or liberty of any person is involved, the
Public Information Officer is expected to reply

(A) within 30 days of receipt.
(B) within 45 days of receipt.
(C) within 48 hours of receipt.
(D) within 35 days of receipt.

87. Which of the following is an offence for
dishonour of a cheque?

(A) Cheque given by way of donation to
charitiable trust

(B) Cheque given in gift
(C) Cheque not presented within the validity
period

(D) Cheque issued in discharge of legally
enforceable financial liability

X-21
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83. RGN @6 (Quantum Meruit) TT—
(A) @ ARl a1 Sws afonfe
(B) wrefifze afcxsfs
(C) T© @ w7 341 T
(D) % @ 2w F31 T

84. A pfere afegisitm wigsIa (right of
subrogation) WA e 2, Ol 21—

(A) *NeqmF
(B) Q49 (qeqmis
(C) =fo7s<
(D) @it

85. e sifaeHifae Kol (unpaid seller) 95/’3'6\27
&R 2 IR

(A) GIRIET AR S fle] A6 MR FACO AT |
(B) o=@ il 00 A1 |

(C) = firera W& e SIS =11t |
(D) Titea Sfzeia Iei 4TS A |

86. I @I Ifea G A T T Tow A,
Te-52 NEFRE (A Ted S 4

(A) difesg 30 fera st |
(B) &ifeid 45 Mg e |
(C) 2ifesz 48 9%1= Se&y |
(D) &ifesg 35 fueera st |

87. N T (G5 AT T oA I <l
2@
(A) TG A0S S e (rewl
®F
(B) Tz 2Ea (edl 5
(C) &Y ATANE Ty Toifze 1 41 65

(D) W3 7 IRy wWifds o [l wE
IO &l (ST (5F
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88. Which of the following is covered under GST?
(A) Cooking gas
(B) Liquor
(C) Petrol
(D) Food Bill in an AC restaurant

89. Which of the following does not raise the
presumption of undue influence?

(A) Parents and Child
(B) Landlord and Tenant
(C) Fiance and Fiancee
(D) Doctor and Patient

90. What is India’s ranking in FDI Confidence
Index 2019?
(A) 4th
(B) 17th
(C) 21st
(D) 16th

91. The administration of direct taxes is looked
after by the
(A) Central Board of Direct Taxes
(B) Ministry of Finance
(C) Ministry of Corporate Affairs
(D) Income Tax Department

92. Which of the following is not tax planning?

(A) Payment of Life Insurance Premium to
avail deduction u/s 80C

(B) Short-term Capital Gain on Sale of shares
not shown in return

(C) Exemption claimed u/s 10(15) in respect
of Post Office Savings Deposit

(D) Investment in 100% tax free Govt. Bond
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88. Toa @A oy W “fqcEal T sifafaq W
AT 2
(A) = A
(B) &I Al Il SO A
(C) ciG=

(D) #reres fafae @e<a d[Es e

89. e (TG SHH© 2T FEFE TNl T
I l?

(A) oo @R TR
(B) JIfTeTe @R Seih
(C) qlowE @<k qlsiral
(D) TIER @I 5T

90. 2019 AR ‘g Rwh [Ntz sfes
355 (FDI Confidence Index) @I ST B
IR 2

(A) 4th
(B) 17th
(C) 21st
(D) 16th

91. OPF F(FF AP TIZ MK WY S
(A) @FER 2oFF I 27
(B) wIfEe
(C) @I s T
(D) =Esd el

92. v @0 T AfFFEA Sgafe T3 2

(A) 80C 4R ZIT 2GS ey G Az
Go|

(B) (*IF RF¥ (AF Folete 1wl Tl S
IR Sy Grae! (2

(C) (oIS SIf e 2/ea ik & 10(15)

(D) *oFa] 4T Bl FIE TP A0 _feTciel



93. Which of the following is treated as an
Agricultural Income as per the Indian Income Tax
Act?

(A) Income on sale of silk cocoons obtained
from assessee’s growing mulberry leaves

(B) Income derived from sapling or seedling
grown in a nursery

(C) Income from fisheries
(D) Income from dairy farming

94. Mr. Singhreceived netsalary of 1,00,000 after
deducting 10% of basic salary as contribution to
Recognised Provident Fund (RPF), deduction of tax at
source (TDS) of ¥ 9,000 and repayment of loan of
% 35,000. His basic salary is

(A) ¥ 1,00,000
(B) ¥ 1,50,000
(C) % 1,60,000
(D) % 1,20,000

95. A College Teacher receives fees from the
University of Calcutta (the college is affiliated to
Calcutta University) for checking answer sheets of
examination. Such receipts shall be taxable under the
head of—

(A) Income from Salary

(B) Income from other sources
(C) Income from Profession
(D) Exempted Income

96. Notional Income is charged on—
(A) Income from Salary
(B) Income from other sources
(C) Income from House Property
(D) Capital Gain

97. Which of the following is not an investment
based deduction under chapter VIA of Income Tax
Act?

(A) 80C
(B) 80D
(C) 80G
(D) 80U
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(A) 1,00,000 TiFl
(B) 1,50,000 izl
(C) 1,60,000 GBIzl
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98. Expenditure by employer on promotion of family
planning among employees is allowable expenses
u/s 36(1)(ix) under the head of ‘Profits & Gains from
Business and Profession’ for the following assessee:

(A) Individual only

(B) Company only

(C) Partnership firm only

(D) Individual and Company only

99. Which of the following expenditure is not
allowed under the head ‘Profits & Gains from Business
and Profession’?

(A) Litigation expenses in protecting the trade
or business

(B) Diwali expenses incurred for maintaining
good relations with the employees

(C) Commission paid to selling agent

(D) Expenses on account of Corporate Social
Responsibility

100. Unabsorbed depreciation can be carried forward
for

(A) 8 years
(B) 4 years
(C) 10 years
(D) Indefinite Period

X-24

98. T AT AATFHTT & 496 L (@ @
SISl (Assessee) 36(1)(ix) 4= S Profits &
Gains from Business and Profession’ ¥t® 235 2317
B (AT #AlCT ?

(A) (TG qie

(B) (F&TIg (Fr=elife

(C) @eTg SAmifa eifewia
(D) (TG e @ @F=iifd

99, S5 (I 1B AN Al (oI (A I @R
S GG A (A W AE 12

(A) ey It FRET FTHG TN A6

(B) T A ©IF TS 7519 &y (e TfeTa

(C) el efeffae orea S
(D) AMIEE 627 AT &) 1 A6

100. SRS SHT T WadIze 41 A& 2
(A) 8=3
(B) 4 =g
(C) 10 =g
(D) wIfefi® et



X-25 06-11
Space for Rough Work



06-11 X-26
Space for Rough Work



X-27 06-11
Space for Rough Work



06-11 X-28
Space for Rough Work



	cov-x
	21312-SET-21-Commerce(X)-M
	Blank Page


 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20211027154634
      

        
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     None
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     26
     25
     26
      

   1
  

 HistoryList_V1
 qi2base




 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20211027104438
      

        
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     None
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     1
     0
     1
      

   1
  

 HistoryList_V1
 qi2base





